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Find the sum of the coins.
Example:

ADDITION OF COINS

8 dimes + 5 nickels + 4 pennies = ____ cents.109

b)  8 dimes + 8 nickels + 2 pennies = ____ cents.

a)  6 dimes + 6 nickels + 8 pennies = ___ cents.

c)  7 dimes + 3 nickels + 9 pennies = ___ cents.

d)  6 dimes + 4 nickels + 7 pennies = ___ cents.

e)  1 dime + 6 nickels + 7 pennies = ___ cents.

f)  4 dimes + 9 nickels + 2 pennies = ___ cents.

g)  3 dimes + 6 nickels + 8 pennies = ___ cents.

h)  5 dimes + 4 nickels + 5 pennies = ___ cents.

i)  2 dimes + 10 nickels + 6 pennies = ___ cents.


